October 24, 2019

Simplify the expression:

1. 3(4x - 3) + 2x
12 -9+ 3x
I -9

Solve for x:

2.X+7=-15
¥=-2)

Warm - Up

3.4x-9=19
1A 49
4x-ag8

4 4

. X=]
D¥ux-9- (9
4()-9=19
AZ-A =19
1971
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Solving multi step equations
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Multi-Step Equations

*** Simplify first, then solve!
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R

3(x+4) = 27

-Ix+9x+4 =20
K +9=20

A

2(-4x + 6) = 162

5(2X + 3) + 3 = 38
|0x+15+3=38
jox+/8=
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0 = 36 - 6x + 7x "IX + 28+ x=-2

v _ _
D= 3o~ (,(-3(.) +7€30) -0g -28
O~ 3o+ L - B2 - x= -3
O-= QS&‘QSD\

60 -1(5)1 2%

2(x+3)=9 -8(x + 3) + 7x
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§.4x;8=-64-3‘ %2 |1=+2|
4
:"Qg
4218 "3 D?.Q/f : 20
:"" (o
fx<"L3e ¢-2=
A= 3L‘, C;CK
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